W did‘ NOJ({S 3.3 Multiply Decimal by Whole Number (6.NS.3)

. Mulfl lyin Decumal
o Multiply normally, ignore the decimals.
o Then, put the decimal point in the answer - it will have as many
A as the two factors combined.

» Annex Zero - If there are not enough decimal places in the ANSWCV you need
to annex zeros to the left. To annex a zero means to place a zero at the beginning or
end of a decimal.

Guided Practice: Multiply
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5.) A bee hummingbird has a mass of 1.8 grams. How many grams are & hummingbirds and a 4-gram nest?
(HINT: 2-step problem) EEE— —
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6.) Justin buys 12 pencils for $0.56 each. He pays w1’rh a $10 bill. How much change will he receive?

(HINT: E~g:fgp L|;rohlem) w2 0 ‘p ’U’D Q\AS‘\'\ n w il

Ty _:__9_{’*_51_, regive $3.28
T 3.28

*osk0

______,-—-—-—-

Building on é)ssen‘ﬂ"lg Question - How can estimating products help you fo place the decimal correctly?

T™he eshmad Can elp m AV IV Yot gyTatest
pac VAW, dou  (an Ck v veasonablurdss
Rate Yourself ‘0\6 { S’h VV\‘U\’\UV\-'

Are you ready to move? Shade the section that applies.
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